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[O]=1
2y  0.80% (-0.8bp)
10y 157% (+0.7bp)

30y 223% (+1.5bp)

[7|Et 10YE]

¥z 0.64% (-3.0bp)
=9 -0.09% (-0.7bp)
mZA  0.14% (-1.2bp)

O|EtzZ|of 1.10% (-1.1bp)
A Q2 0.94% (+1.6bp)

dg|A  7.92% (+6.0bp)
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DOW30 18454.30 (-0.26%)
NASDAQ 522299 (-0.18%)
S&P500 217612 (-0.20%)

NIKKEI225 1672536 (-0.07%)

SHANGHAI 3074.68 (+0.15%)

FTSE100 6820.79 (-0.25%)
DAX30 10657.64 (+1.07%)
CAC40 445749 (+0.75%)
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(-0.0047)

(+0.62)

(+1.03)

(-0.0044)

2LE/g2{ 1.30746 (-0.00286)
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AAT| 2039.74(+0.36%)
AAL} 667.61(+0.61%)
91/=t3{ 1119.90, M YUH| -5.10Y
*KTB: 110.85, M 2H| -5E|

*LKTB: 132.79, M &H| -20E!

6. Y =W = 2 X el §5 otE
ZICHA2I7F A & TE dSHE ot AlY
27t AL 2E U 7|E=el ASHE 7Itidts d
3y 1.283% (+1.1bp)

Sy 1.310%  (+0.9bp)

10y 1449%  (+0.4bp)

CcD 1.340% (Obp)

7. EC-Ag AT

3y -2.5bp (+0.2bp)

Sy -4.3bp (+0.4bp)

10y -122bp  (+1.1bp)
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8. IRS/CRS E3k IRS Z2|= 0|2 HSY 22 NGXE ZME AFD AZ A5 & 3ot A"
O OFM| MBHSIH HEE AE AFE
RS 22|

1Y 1.2925% (+1.00bp)
2Y 1.2675% (+1.75bp)
3Y 1.2625% (+1.75bp)
5Y 1.2725% (+1.75bp)
7Y 1.2850% (+1.50bp)

10Y 1.3300% (+1.75bp)

1*2Y  -250  (+0.75bp)
2*3Y  -050  (Obp)
2*5Y 050  (Obp)
3*5sy 100  (Obp)
5¥7Y 125  (-0.25bp)
5*10Y 575  (Obp)
*CRS 22|

1y 1.1450% (-1.5bp)
2Y 1.1000% (-1.0bp)

3Y 1.0900% (-0.5bp)
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1.0550% (-0.5bp)

5Y

1.0250% (-0.5bp)

7Y

1.0250% (-0.5bp)
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~3Y oy x|z

O|2-72 TYFEATOI(MoM) (0]:0.2%, 0 44:0.6%)
-8& A|Z}PMI (O] F:55.8, 0 At:54.0)
-82 ADPH| s EHE (0|F&:179K, 0f|AH:175K)
S2=-82 CPI(YoY) (0|7:0.2%, 0fAt:0.3%)
-8g 2 RICPI(YoY) (0]7:0.9%, 0 AH0.9%)

SU-8% HYE (OIT61%, 0I4:61%)
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DJ 0§ (MoM) (O] %:-0.1%, 0] AH0.5%)
d2-78 L YPHL(MoM) (0]7:2.3%, 0f&4:0.8%)
ot=-98 M= 7|YE7|H4AX|4=(0|:73, &H’:77)
79 AP AK(YOY) (0]F:0.8%, 0f25:0.3%)
-78 AFIAAHMoOM) (0| F:-0.2%, 0| Z:-0.6%)
-Bh=2 AD)THO}(MoM) (0] F:1.0%)

79 MH|AES A (MoM) (0] ™:1.0%)




